H KN2

[1]1) a=VT -3 L% a’+6a=| 1 [ 2 |ThHY,

a’+9a*+19¢+3=| 3 \/ 4 | ThsH,

2) PBi%y=(x*—4x)*+10(x> —4x) (-5 <2< 5)DF/IMEIE
5 1 6 | 7 [Ths,

3) SHEDfENBRDT—41, 3, 4,8, IOFHHEIE 8 |THV., /il

9 || 10 |THD,

4 A, B CDDAANRCRATAZELETSLEE, HUWIITA DR
11 12

ThH D,

13 | 14

5 AB=13, BC=5THLAABCH., LA<LBZLCZifilz+ L&, CAD

EVHELMEOREAIE 15 |[KCA<| 16 | 17 [TH D,




18

2) 0<0<mp L&, %HKcos20 +3sinb —2=0%i7=90 DI KEIX

Thod,

19

T D,

20

21

3) EEkEFm Eo2/RA (=3, 1), B2, —4)icxt LT, AP: BP=3:2 %7

RPOFBMNE, Fls

22

)

23

24 ),

25

J

26

OHTH D,

@) yxFEHEELTH, BEEMANO45EA1, 0, 2), B(=3,1,5), C2, 4, —1),
D(=1, y, )R —Fmtichsr L&, y= 27

TH D,

5) EHHa,)DWHENGFEnEE TOMS, NS, =—a,+4n+6TEHIND L &,

{a,)D—fxHEITa,=

28

29

_|_

30

n+1

31

Thod,



x, YNIL ODOFRERx=>1, y=1, log,xy <3, log,x’y<4%iWii=4 45,

1) y=1loLx, xDOL VEHEOHFHIL, | 32 |25 33 [THD,
2) X=log,x, Y=log,y 45, XY’"EHIZEWT, X, Y)2Nili7-+R%EL
34

D F I R D I FE T Thod,

35

36 38

37 39

3) (log,x —2)2+(log,y —2)%1%, x=2 , y=2 DL E, f/IME

40

LD,

41




B y=—x24+3x(x=0D 7 7 7 %C; . F%i&yz%xz—i—?)x(ng)O)f? 7 %C,

ET 5, £, C, EOAR, 202B T dHEREL LT 5,
1) loHBRXL, y=| 42 |x+| 43 | TH D,

@ C,r loskEommEx(l 4 | 45 || 46 >“C“<T7>%>o
3) C, C,BLOITHENFBEOHERES LT 5.
1) S=| 47 | 48 |cm 2,

2) Ely=xtd%mET 5, Cy 1L Om I ENI- GO EHETE

2
S 49 50
j‘é&\ 7: ‘6&5)50
501 52




